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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) FEF 97 F T YT F FHEIR TF G 5T Hiord | |
Solve all parts of a question consecutively together.
(iii) A% F77 F1 73 g8 @ FRAT Fford |
Start each question on fresh page.
(iv) I 9T9I371 7 31 817 #1 et 3 3 e S 8 1

Only English version is valid in case of difference in both the languages.

L () ey ud g Sicea Hid § 3 Farsd |
‘Differentiate between an ideal and practical voltage source.
(i) 3IRAS T T3y F FEETE |
Explain initial value theorem.
(iii) e i ferftau |
State Thevenin’s theorem.
(iv) Tg-ar 9mer & h-sr=e 1 afoaiya Hifs
Define h-parameters of a two-port network.
(v) SEIfictar S s |
Explain selectivity. (2x5)

(1ofd) P.T.O.
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Explain Kirchoff’s voltage law with example.

Area faverw fafy & fr faa o faa o ooy & fafim yfowsi § s acft
YT 1 7 hitee | (FFE-1)
Use nodal analysis method to find currents flowing in various resistors of the

circuit shown in the following figure (Fig.1) : (6x2)
10Q

< :
28A $20 5Q %49 @24
>4 :

fE-1/Fig. -1

1 & STt w9 3ia i -
Find Laplace Transform of the following :
(a) tsinwt
) 6¢e*cos3t
£t 3 SR ATATH SR S IR - | (3x2)
Find Inverse Laplace Transform of the following :
s$—3
i (s +2)?

s+1 3Ix2
®) s(s?+9) (3x2)

siferm m g w1 ferfa ik 38 firg i |

State and prove final value theorem.

(i) T eRfa aftey o G K 1 t = 0 W g foman Stman 2 | mifives gend 3 7d §u

t > 0 % fore am i) 7 Fifse | (FeF-2)

In the circuit shown in the following figure, switch K is closed at t = 0.
Assuming zero initial conditions, obtain an expression for i(t) for t > 0. (Fig.2)
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svQ  /iOV i

=2/ Fig. -2 (6x2)
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5. (i) Tl i fofa ot 3@ wwemEd |

State and explain Millman’s theorem.
Gi) T3 R A i & 2 3im wfede § w3 et e i o i ) (f-3)

Calculate current flowing through 2 Q resistance in the circuit shown below
using Norton’s theorem. (Fig.3)

3Q 30 A
‘——.—WAVAY & A
i .
10V = 6Q 2Q
B x
f=-3/ Fig. -3 (6x2)

&1 srfrenam vt Erma wi fafay 3k 3@ fag AT |
State and prove maximum power transfer theorem.
(i) fom & <Ria ufm 4 17 3Ny yhRy § wr-Se sgw oty | g/ @ aE
kit | (F-4)
Using Star-Delta transformation, calculate current in 17 Q resistor of the circuit

shown in Fig.4.

4Q 41 Q 15Q
AAAA- A

2Q 6Q 4Q

17Q
115V

fa-4/ Fig. - 4 _ (6x2)

7. (i) y-STEEi Bl h-STEE o ®9H 7 HIC |
Express y-parameters in terms of h-parameters.
(ii) foit ma forx 1 2 STTes & for z e W ik | (F-5)

Find z-parameters for the network shown in Fig.5
L .18 2Q I

-5/ Fig. - 5 (6x2)
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8. () it R-L-C e witwy # ¥ e ¥q g wnfta Hifvm |

Derive an expression for bandwidth in an R—L-C series resonant circuit.
(i) T Iofi Ry R-L-CHR=10Q, L=0.1 H, C = 8uF &, T F1d T :
An R-L—C series circuit has R = 10 Q, L = 0.1 H, C = 8uF. Calculate :

(a) I A

Resonant frequency
(b) IR QITH

Q-factor at resonance
(c) G vifh sgferi

Half power frequency : (6x2)



